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What is the duty of teacher in

generating motivation among the

learners ? .

(A] To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes

(C) To accept the level of success as
one can attain

(D) To maintain very high standard.

How can the interest of the learners

be maintained ?

(4) To deliver good lectures

(B] Te cite good examples from the
text-books

(C)Fl To cite examples from the

7 fearners' familiar environment

(13) ‘I'?w@ilﬂi:k studies everyday.

The knowledge of learners’' emotion is

essential for teacher. One of its
reasons is, teacher can

(A) remove anxiety of the learners
(B) control anger of the learners

(C) keep the Ilearners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

/A] Right to Education

'B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children,
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What is the meaning of
comprehensive evaluation ?

(A} Evaluation of the whole
curriculum

(B) Evaluation of all-round
development

(C)] Evaluation of the whole
intellectual ability

(D) Evaluation of all students
simultaneously.

Effective way to know about =

student is

(A) evaluation

(B) play

(C) visit his hame

(D) observation.

What will you do if a student is

repeatedly teased by  another

classmate ?

(A) Punishment of the classmate

(B) -8eparate sitting arrangement

(C) Counselling of the classmate

(D) Call the guardian.

How can teacher identify brilliant

students ?

{A) On their examination result

(B) Observing their  classroom
behaviour

(C) Getting family history

(D) Based on the relationship with
other students.

What is the best way for a teacher to

maintain discipline in the classroom ?

(A) To assign group tasks "

(B) To lecture about the need of

~ discipline !

(C) To lodge complaint with the
headmaster

(D) To impose strict punishment.
Cause of failure of students is

(A) lack of memorization power
(B) not to strive for assimilation
(C) absence of frequent tests

(D) not to follow the teacher.
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Meodern education system 18
(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(Bl Judgement

(C] Picture

(D} Imagination.

In which stage of life development
does child start to speak ?

(A Infancy

(B) Late childhood

(C) Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(), 1anguage

Gﬁ} isplation

(C) observation

(D) independence.

Concept formation depends on

(4) learning

(B) transfer

(C) wvision

(D) imagination.

As a result of cooperative learning
among the learners

(A) learners become self-reliant

(B) all learners learn equally

(C) learners' motivation declines

(D) they do not feel the needs for
teachers.
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Which one is correct ?

The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily

(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the

learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be
anxious.

The way of teaching the learners

about environment is

(A) to get them acquainted directly
with the environment

(B) _to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

fﬁj to teach environmental science.

According to Vygotsky

(A) culture is the outcome of
education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor
of learning.

Mathematics learning of childreh

depends on

(A) maturation

(B) intellectual ability

(C} interest

(D) development of spatial
reasoning.
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Which one of the following is not

related to creativity ?

() To think quickly

() To perceive relation between
impossible things

() Work hard continuously

(D) To solve problem in a novel way.

How can one understand the cxtent
of student's learning readiness ?
(A) Spontaneous interest '
(B) Correct answer to the teacher's

question

(€) Requesting teacher fo dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the

students have committed error iIn

gnswering a question. What may be

the probablc cause ?

[A). They did not pay attention in the
classroom

1F] _They did not study it at home

!

(€) . The language of the question
was not proper

(D) The teacher did not say that it
was important.

Sometimes the first generation

learners may be inattentive in the

class, because

'A) there 1s none to help at home

(B) has to perform many household
work

(C) there is lack of effort in studies

' (D) difficulty in understanding the

teacher's language.
Who is known as the father of child
centric education ?
(A) Dewey
(B) Froebel
(C) Montessor!
(D) Rousseau.
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27. Who conducted the factor analysis aof

28,

30.

intelligence first of all ?

(A] Thurstone
(B) Gardner
(C) Carroll

(D) Spearman.

Reading of literature is essential for
children because the child

(A) acquires knowledge

(B) develops imagination
(C) acquires difficult words
(D) builds character.

Individual differences occur among
children due to

Lﬁl heredity only
(B} environment only

(C} growth

(D) combination of first two.,

What may be the probable cause of
mistake in writing the same spelling*

repeatedly ?
(A) Learning disability
(B) Low vision
(C) Tendency to commit mistake

(D} Low intelligence.
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SECTION - I
Language - English
There are 30 questions in all in this Section.
All questions are compulsory.
Part — A
Jirection : Read the following poem and answer the questions (31/61 — 37 /87) that follow :
Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke, once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir 7
Was it for thisitheclay grew tail.?
— Or what made ﬁs&ﬂ?’q&ﬂlﬂq'@tms toil
To break earth's sleep at all ?
31/61. The meaning of the line "Woke, once, the clays of a cold star’ is

(A) broke the cold star info pieces

(B) brought life into the cold planet now called earth

(C) made the clays of the planet

(D) made a cold star warm.

"32/62. If anything is capable of awakening "him" it is

(A) the warmth of the sun (3) the sun alone knows
: (C) the daylight (D) the morning snow.
33/63. The poet "urges to move him into the sun " becausc

(A) it is warm (B) it woke him once earlier

(C) it is day-time (D) it will ease his pain.
34/64. The sun "always' woke him in

(A) England (B) India

(C) Italy iD) France.

695990 | PT.0.
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35/65. "Was It for this the day grew tall' — is an example of
(A}  metaphor ! (B)  metonymy
(C] chiasmus (D) alliteration.
36/66. ° "... what made fatuous sunbeams toil ..." is an example of
(A)  synecdoche (B) periphrasis
(C) personification (D)  simile.
37/67. The general tone of the poem can be described as
(A} sad and tragic (B) full of mirth
(C] satirical ' (D)  humorous.

Directions :  Read the following passage and answer the questions ( 38/68 — 45/75 ) that

follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so Popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon: the Nanev Drew mysterv stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dikon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through'a process ealled ghost writing. A ghost writer
writes a book according to a specific ﬁﬂm&r@ﬂe they are paid for writing, their
authorship is not acknowledged” and thelr names do not appear on the published
books.

The initial idea for both The Hardy Boys and the Nancy Drew series was
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's books. Stratemeyer noticed increasing popularity of mysleries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline deseribing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book. it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each serfes proved to be the most
influential. He was a Canadian Journalist by the name of Leslie McFarlane. A few years
later Mildred A, Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves, Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
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librarians objected to the ghost-writing process. claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
vork Public Library — even refused to include the sooks in their children’'s collection. i
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has

exerted an undeniable influence on American and even global culture.

38/68.

39/69.

40/70.

41/71.

42 /T2,

43/73.

695990

A ghost writer is someone who

(A) wriles about ghosts and strange events

(B) does not receive credit as an author

(C) invokes spirits and supcrnatural elements to write

(D) takes lot of money for writing.

What does the word 'surmised’ mean vy

(A)] Guessed I (B) Questioned

(C) Knew (D) Surprised.

The Hardy Boys and N'anc)r Drew series were created on the idea that
(A) mystery books for adults are popular

(B) children enjoy reading about characters they can relate 10
(€) girls and boys are not interested. in thq.sﬁrm,;hmg

(D) the writer needed moncy. |

According to the passage the Nancy Drew mysiery serics was introduced in
(A) 1927 (B) 1925

(Cy 1929 (D) 1930.

Which would be the appropriate title of the passage 7

(A) Ghost Writing : A Way of Life

(B} The Dubious Yet Profitable Practice of Ghost Writing

(C) The Hardy Boys and Nancy Drew : A (Ghost Writing Series
(D) A Critique of Ghost Writing.

Who was the real writer of the series according to the passage ?
(A) Carolene Keene (3) Franklin W. Dixon

(C) Leslie McFarlane (D) Hardy.

50 [ P.T.O.



44/74.

45/75.

Direction :

46/ 76.

47/77.

48/78.

49/79.
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Some teachers and librarians objected to the ghost writing series because they
(A)  disapproved of mystery stories '
(B)  thought that the books were too cxpensive
(C)  believed that the books were not quality literature
(D) disliked the business practice behind the series.
Which of the following describes the author's attitude towards the series ?
(A)  Balanced and respectful (B) Doubtful and critical
(C)  Hostile but forgiving (D) Overwhelmingly appreciative.
Part - B
Answer the following questions by selecting one option :
Gender stereotypes can be discouraged by
(A)  helping the boys to accept failure
(B)  encouraging girls to take up sports
(C) asking girls to arrange for the snacks in a class picnic
{b} eneouraging girls to takeup challenging fobs in life.
Abstract intelligence tests
(A)  verbal skills |
(B)  manual dexterity 3
(C)  numerical ability
(D) manipulation of symbols.
Today emphasis should be given to
(A)  electronic gadgets used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(€)  learning through foreign collaboration
(D)  value hased teaching-learning process.
Effective learning takes place when the students are
(A)  quiet (B) obedient

(C) interactive (D) preparing for examinations,

6001



19
50/80. A teacher can best develop communicative skills with the students by
(A) encouraging to speak in that language continuou sly
(B} giving dictation
(C) correcting grammar and spellings

(D) giving students homeworks in that language.

51/81. While communicating ideas in written form grammar has
(A) a key role ! (B mno role
(C) liberal role (D) mnonce of these.

52/83. Key principle of language teaching is
(A) to motivate the students in the process of learning
(B)  to facilitate the learner-centered classioom activities
(C) to maintain discipline in the class
(D) to show the teacher's mastery over language.

563/83. In a language-teaching class the primary akill{s)-to be developed in children is/

are
(A) Listening g, & mi "ém}dﬂg
(C) Listening and Speaking sl f. m

54/84. A multi-lingual classroom is
(A] students with different mother tongues
(B) students coming from different regions
(C) students with different cultures
(D) students with different social backgrounds.
_55!85. 'Overlearning is the term used lo describe
(A) practice thal continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular
class / age

(C) the practice of spending too much tirne on studies

(D) the practice of overburdening the students with tasks.
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57/87.

58/88.

59/89.

60/90.
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Tasks to improve spelling should not include

(A]  reading (B) listening

(C]  writing (D) use of dictionary.
Giving dictation is not useful for

(A)  learning the correct form of the language

(B) developing language skills

(C)  developing short term memory

(D)  helping students to spell correctly,

How can language comprehension and proficiency be evaluated ?

(A) By evaluating all the four skills in different periods of time throughout the

course
(B] By evaluating all the four skills at the end of the tourse
(C) = By evaluating only reading and writing
(D) By evaluating only sﬁ@%ﬁf’ﬁ'ﬁ‘ﬁﬁeﬁ]ﬁ
What is the main challenge of tea&fﬁing f“nguagc in a diverse classroom ?
(A)  Facing slow and weak learners
(B]  Facing a mixed-ability group of learners
(C) Facing infrastructural problems
(D) Faeing the good students in the class. .
While using problem solving method the teacher should
(A)  participate actively in the process
(B)  encourage divergent thinking
(C)  ask the students to consult their parents

(D)  look at the students' activities from a distance.
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Section - III{a)
Mathematics &
a2 freret Gt 60 B o sis | (1 Hfmd a8 fEuf s atEred e N w0y Ted fa0s 2 |
There are 60 guestions in all in this Section. The candidates who have selected this subject

must answer all the questions.

91.

92.

93.

qa meema 5@AD @9 z7 73°, 97°,
146° @38 138° | 212 (@efbg w

(A)
(B)
(€)
(D)

DB
104°
86°
83°,
WNEEE ABCD € ABEF-@¥ (WA
owE FWH @4t Oima Bmel YUEE
h$ p @&
(A)

(B)
(C)

(D) (@IHIHS =3 |

¢wa fora AB||CD %€, £BGE-93 ¥

T
F
u/
X
00" + x
/ G

h=p
h<p
h=p

4

A

E
45°
120°
135°
270°.

(A)
(B)

(D)

695990

gl.

a93.

6001

cience

Four angles of a pentagon are 73
Q7°, 146° and 138°. The value of the
fifth angle will be

(4]
(B]
(C)
(D)

113°
104°
86°
83°.

The areas of the parallelograms ABCD
and ABEF are equal. If their heights
be h & p respectively, then

(A}, h>p

(B) hsp

ey w=p

(D) none of these.

In the figure below, AB| | CD, then the
value of £BGE is

(A) 45°
(B 120°
(C) 1835°
(D) 270°

[P.T.O.



94,

95.

96,

97,

as,

s oW el T o fowe
TEA FA A 7

(A) 95°, 45°, 50°
(B) 95° 457, 40°
(C) 65° 85°, 50°
(D) ©5°, 55¢, 25°.

9 FUTT MY 32 A I 5 Frew @
FIE R Sften w1y @ ¥ Ao
CCE 16 B 36, 72 2+

83

~ 44

() -83

(D) 12.

(oI A& I99 x 957 IET 5 T
SN 8 5 TG AER TN WG oo

(A)
(B)

(A) (5-x):(5+ x)
(B) (x~5):(x+5)

) (10+x):x

D) (x+5):(x-5).

(2% +1)% =4x2 ) 4x + 1. 4T @z

(A) H¥iPpas

(B) <icon

(C] Pl

(D] IS ~Y |

Reme o ey wqene 19 : 20 7o,

Tod] Bhog %14 35

(A 10%
(B) 7:5%
(C) 5%
(D) 2:5%.

28

94

95.

96.

97.

98.

695990
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With which of the lollowing angles, a
triangle can be formed ?

(A) 95°, 45°, 50°
(B 95°, 45°, 4g°
(C] 65°, 85°, 50¢
(D) 65° 55° 25¢.

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) -44
() ‘=83
(D) 12,

If your present age is x, then the
ratio-pf-vour ages 5 years before and
5 years after the present is

(A) (S-x):(5+x)

B (x=5):(x+5)

i’@} (10% x)+ x
(D) (x+5):(x 5.

IZE.:r:+1)2 =4x? 4x + 1. This is an

(A) equation
(B) identity
(C) inequation .

(D) none of these.

If the ratio of sale price and purchase *
price is 19 : 20, the percentage of
loss is

(A)  10%

B) 7:5%

(C) 5%

(D) 2:5%.



99,

100.

101.

102.

103.

104,

g% eume 20% fE dwE AR
sy g0 | A @w ?

(A) 60

B) 70

() 75

(D) 80.

(p+q)=8 @t (p-g)=63F pg-ad
A &

(A) 7

(B) 14

(€ 21

(D) 28.

4,7, 12-44 5o FAFATS] 27

(A) 28

(B) 21

(c) 14

(D) 35.

50-49 x % = x99 y % F}E y-d9 H3H
fnﬂ
(A)
(B)
(€) 75

D) 100.

3x? _2yz + 522 @& AWETR AT
5
(A)
(B)
(C) 6

(D) 5.

55 kg PIoE 25 kg Wl @ GEiee o
R Nl G T A P ?

@y 11:5

B) 5:6

{C) 6:5

(5 1l

25
50

4
3

695990

39
99,

100.

101.

1032,

If a number is increased by 20%, it
becomes 90. The number is

(A] 60

(B) 70

(C) 75

(D) 80.

If (p+q)=8 and (p-q)= 6, then the
value of pq will be

A) 7

(B) 14

[c) 21

(D) 28.

The fourth proportionate of 4, 7 and
12 is
(A)
(B
(C) 14

(Dy 35.

If ¥ %of 50 = y% of x, the value of
y will be

(A) B25

28
21

7| 5

103.

104.

) 75

(D) 100.

The number of variables in the
gxpression ax? - 2yz + 527 is

(A) 4

(B) 3

(C) .6

B) 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

Ay 1LliE
(Bl 5:6
(C) 6:5
{3 S 1

[ P.T.O.
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105. 9= (N9 IRHIE A-99 e B-aF
PHET @ A-ag eTened 428 B
g, B3 Hel 564

(A) 214 G
(B) 556 b
(C) 107 5=
(D) 856 b1

106. 90 bSweE A0 P @ ST
90° (FIt7 TGU&® Fa O voGeiE
4%l 2
(A) T
(B) Anmfa
(C) w8
(D) Tif=iferan

107. @3l F&w guer afeld s ww
165° 51, qRGEIDA AL 27

(A) 12 _
(B) 24 o
€ 6

(D) 8.

108. Tfeare feve AaBC-@x e e
ZA = 70° T N2 (@ F=AE e 2
(A) AB> BC
(B) AB<AC
([C) AC> BC
(D) AC=< BC
109. @3f6 el swfaae faswe, ash
TR A 25° ST, HOUEE Hiel
(A) 755°
(B) 110°
(C) 130°
(D) 155¢,

695990

105. The principal amount of A is twice of

106.

107.

108.

109,

B in a joint business, If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs 214

(B) Rs. 556
(C) Rs. 107
(D) Rs. 856,

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be :

(A) sguare

(B) parallelogram
(C) rhombus

(D} trapezium.

If each interior angle of a regular
polygon is 165°, then the number of

sides of 'the polygon is

(A) 12

(Bf 24

By 8.

The vertical angle <A of an isosceles

triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC

(B) . AB < AC

(C) AC= BC .
(D) AC < BC.

An acute angle of an obtuse angled'
isosceles triangle is 25° So the value
of obtuse angle is

(A) 755°
(B) 110°
(C) 130°
(D) 155°.



110. ABC fugew AB® wufew D. 93¢

111.

112,

113.

114.

695990

DE||BC. BC =7 cm 21 DE-94 qTe
Ll

A
D E
B C

(A) 14 cm
(B) 7 cm
(C) 3ocm
(D) 14 cm.
(% +3)(x - 3)-E x-E&9 R TS 7
(A 1
(B) 2
€y 0
(D) -1. .
2 8x 4+ 15 abe Sevmesi =
(A) (x-5)x+3)
B) (x B)lx+7)
(C) {x-5)x=3)
(D) (x-8B}{x— 7).
a?b®, a%?, a*b®-e3 #3e. 32
e hEqg 1H B¢
(A) 32
(B) 24
G} ©&
(D). 2.
e aiffe @@ ad + b5 DA
A3 (a+b) TE AMS 3@
(A) (a? +b?)
(B) [ag —ab + bz‘j

©) (a®+2ab + b
(D) (a®+ab i b?).

61

110, In AABC, D is the mid-point of AB,

111.

112,

DE| | BC. If BC = 7 cm, then the value
of DE is
A

B (&
14 cm
7 em
35 oem
14 cm.

(A)
(B)
(€)
(D)
The coefficient of x in the expression
(x +3)(x—3) is

(A) 1

(B) 2

(C) 0O

(D) =1.

The factors of x° - Bx +15 is

(AL (x-5)x+3)

(B) ey 8)(x+ 7)

| S ((X=5)e - 3)

113.

114.

[6001

(D) (x-8)x-7).

If the L.C.M. of a®b®, a®b?, a*p® is
32a*, the value of b will be

(A} 32

(B) 24

[ 6

() 2

The product of two terms is a® + b?
and H.C.F. of the two terms is (a + b).
So L.C.M. will be

(A) (a’ +B%)
B} (a? -ab+b?)
() (a2 +2ab+b”)

D) (a? +ab+b?).

[ P.T.O.



62

115. 199-9% 97 3¢ 115. The cube of 199 is
(A) 7880599 (A) 7880599
(B) 9703011 (B} 9703011
(C) 7680951 (C} 7680951
(B) 6879001, D) 6879091,

116. 0-63 -7 SRS 241 116. The fraction of 063 is

63 -
(A) — &3
100 (A) 100
100
B s _ (B) %’39
Q) o -
11 e
11 11
By
9 (D) %

117. A 8 B-£9 95019 1% 10 9%49, B € C-47
TN 1Y 15 924 @GR A € C-99 9UPE
e 20 TH1 A, B8 C99 99 T

117. The average age of A and B is
10 years and of B and C is 15 years
and of A and C is 20 years. What is

TS ?
1 the average age of A, Band C ?

) 12:98 m | | m 12-5 years

(B) 17-5 994 : B} 175 years

(C) 15 987 {C) 15 years

(D) 20 354 (D) 20 years.

118 . Th t of 6 i
118, 130663 -‘q"sfqﬁ =1 € square rool of 1296 is
(A) 24

(A) 24 AP

(B 26 = |

C) 36 \C) 36

(D) 44. (L) 44, -
119,68, 3-2, 27, x @q% 82-4¥ 5[& 5 5 119. The average of 6'8, 32, 2.7, x and

x99 ¥ ¥| 8215 5. So the value of x1s

&) 4 it

(B) 51 B) 51

() 41 (C] 4-1

(D) 39 D) 39

695990 6001



120. 3 © @i o4y g >-WIR
(A) J
(B) =
(C) TeiEd (1 @ awin
(D) CFINLE 7 |
qeemE G eaeny “wdh 2=
(a) R
(B) ceftwafa
(©) R
(D) cenfaBfeEE
122, SHETeR G 7l @Rite S 29
(A) FETEEERIED
(B) «@fETAPIED
(C) SNCATARD
(D) CZPITCHIHIEG |
N 9 (9 9@ 75 L9
(A)  CBIBHGER
(B) STSTHABEN
(€) =i
(D) mscaAlfEe |
124, TAPAT M@ 9@ FRHIET
ATHTD AT T |
(A) T S
(B) W Gfery
(C) B CSETH
(D) e
125, SIS FE ZAMEAS W 271
(A) QEAHEH
(B) @HICE™
(C) &H*H
(D) e |
695990

121.

123.

..................

63

120.

The average of three consecutive

_ whole numbers is always

121,

122.

123.

124,

(A) even

(B] odd

(C) any of these

(D) none of these.

blood

Substance for

clotting is

(A) bilirubin

(B) prothrombin
(C) albumin

(D) . globulin.

The cell responsible for immunity is

important

(A) lymphocyte
(B) erythrocyte
(C) thrombocyte
(D). hepatocyte.

The name of a female reproductive
hormone is

testosterone
jaf‘ﬁiéeste rone
C) ga s;-'t-rin

(D) adrenalinc.

The
the ..

(A) right auricle

(B] left auricle

pulmonary venous blood enters
voreronr.... chamber of the heart.

(C}] sinus venosus

(D) ventricle.

125. The name of the emergency hormone

is

(A) thyroxine
(B) estrogen
(C) glucagon

(D) adrenaline.

| P.T.O.
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126, FEFReelr Wb crmmm e aw - 126. Which. -of the following is not a
component of phloem ?

(A)  Hews :
B) RN :g; gleve t‘ul?e .
ompanicn ce
). : (C) Fibre
D) GFAET | . :
(D) Sclereid.
127. GG N3 oMby e0rees 2 et 127, The site of protein synthesis in a
(A) Teabarmm S
(B) SRR (A) Dictyosome
(C) e (B) Ribosome
(D) CEPICATSirs | (C) Mesosome
128. Fafmfie com wmigee e aRETeTy (D) Chromosome.
HLFY YILE 7 128, Which of the following organelle has
(A) S ey e many ribosomes attached to it ?
B) e 45 (A) Rough endoplasmic reticulum
(C) enBpIE™ (B) Geolgi body
(D) SIPpes | (C) Lysosome
1298 e e1fiee W OpE o W g bastese.
@l 77 129 The tvpe _t:}.t.' _anir‘nals showing
. cutanequs respiration is
(&) B (A) reptiles
(B) €ebg (B amphibians
(C) =rHl : (€), birds
(D) i) | i | . ) mammals. ; .
130. & W mgﬁm mm G4 TN 1 R faﬁl pI:EE;)(fLYLL;I;tSC;;]E:ISmaJE Bhowmg
(a)  =ifeeE (A) porifera
(B) TeATCER (B) ctenophora
(€) eifay (C) ecnidaria
' (D) embrzetices | (D) platyhelminthes.
131, WIETH e b ICE < W 131.22];::315 Prafulla Chandra Roy 15'
(A) HFDIR SR HFCED (A) 'Master of Sulphates' .
(B) "WPhE o NI (B) 'Master of Nitrates' '
(C) Wbl ww A13NED (C) 'Master of Nitrites'
(D) SO ¢ HAFES | (D) 'Master of Sulphides'.
132, Siebe @G ofve weifaad) ¢ 132. Which one of the fc.mlllowing is the non-
(A) T S conductor of electricity ?
2l {A) Gas carbon
(B] <@EHIEL (B) Ebonite
(C) HH a2 (C) Human body
(D) G| (D) Soil.

/95990 |5001



133.

134.

135.

136.

137.

"138.

695990

@Ae ofeaRia @8 @ SfvesaEs Y
weifaaios e AFTRITS T wiv

(A) ST AR

(B) SRTEWIE ST AT

(C) eiRIRNIER FET HAAFefe®

(D) PRI T I |

T FeE iy ST 99 29

(A) 1:08 volt
(B] 15 volt
(C) 1-05 volt
(D) 18 volt.

ke Twerm @&l I e PITEHA R
e @ #E F@ @[ N @

1A) AESAY bIsfa 4Taa P

(B) ANSAN 69 Z SN FHat

(C) TS BN SNeyE &l

(D) Tl gfa T |

Fafros e o @R o 21T @2
«fiys 2

(AT

OIS TSI

(€) «raARTE

(D) ifAfETE |
frfefoefm @
7

(A)
(B)

Calha b R )

Ffom

apii)
faeewye ai=s
(D) T

faffreefa @mbts wfefe gpEm
S ?

(A) FE WY

(B) Wisd Wiz

(C) E 9%

(D) feE wm

(A)
(B)

65

133.

134.

135.

136.

137.

138.

For a definite resistance and for the
definite time of flow of current, the
heat produced in a conductor is
proportional to

(A} the flow of current

(B) the cube root of the flow of
current

(C) the square root of the flow of
current

(D) the square of the flow of current.

The emfof a dry cell is

(A) 108 valt

(B) 15 volt

(C) 1:05 volt

(D) 1'8 volt.

Why does an ink-filled fountain pen

leak at a high altitude ?

(A) Atmospheric pressure increases

(B Atmospheric pressure decreases

(C) Temperature decreases

(D) Height increases.

Which orie “of the following animal
body phyla has segmented body ?

(A) Mollusca
(B) “Echinodermata
(C) ' Aschelminthes

(D) Annelida.

Which of the following is not a
mammalian character ?

(A) Pinna

(B) Mammary gland

(C) Three chambered heart

(D) Hairs.

Which one of the following does not
have accessory respiratory organ ?

(A) Anabus sp

(B) Clarius sp

(C) Labeosp

(D) Heteropneustes sp.

{ P.T.O.



139, e com endlg stamrs o Sifer 2

140.

141,

142,

143.

(A]  ZIEE

(B) ¢H!

(C) =maaEEn

(D) =mifEr

Preas wared oW wll w5
(A) FFR

(B) 9%

(C) =TT

(D) =T |

i @micds faaae 57 18 omreyB e
(A) TEER puE

(B) ChlEs #we

(C) @=fb pae @ weal wBEe s
(D) &< 75 @ g @slh Blas 2y

At PSR T ANE
SR

(A) FVCANG

(B) IO

(C) ST

(D) ST |

st w% e 1 S o 2o
(A)  ®1ZhA

(B) Greieter
(C)  coieltn
(D) i
144, frsferRioefim com siqer Sfaw a7
(A) =
(B) =NEwenEal
(C) s
(D) st
695990

139,

140.

141.

142,

143.

Which one of the following animals’
locomotory organ is cilia ?

(A) Hydra
(B] Earthworm

‘(C) Paramoecium

(D) Amoeba.

The organ responsible for secretion of
bile is

(A) liver

(B) kidney

(C) pancreas

(D) stomach.

When repulsion occurs between two
substances then those two
substances are

(A) both magnets

(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(D) one is magnet and the other is
magnetic substance.

M electrode which is connected to
iﬁé;: positive pole of the battery is

~ “called
(A) cathode
(B] cation
(C) anode
(D) anion.
Casparian strip is made up of
(A) Chitin
(B) Cellulose
(C) Pectin
(D) Suberin.

144.

Which of the following is not a green
plant ?

(A) Lotus

(B) Spirogyra
(C) Agaricus
(D) Fern.



145, seanRelle g @ Wb S
i e w1 2
A) (@EEDe
(B) IRTHIRE
() smEfer afe
(D) SRCATCEH |
146, (@@ WD AF-E’ A0 ARS=S 2
(A) B4
(B) CHE
(© e
(D) dRFRbI
aratra GemmeR e
(A) @, G TEEE @<t ABRE
AL
(B) A, FAFER @ o
(C) I, AT @ TRBIE
(D) emwE, eI ARED 99
oGS TS |
148, 2wH ejl#l RO 49 2W
(A) oFET NRCACEE
(B) ‘g% ZIBTEIE
(C) <1 TITIAART
(D) TFe e
Azwerg foere g SR g o
(A) AHECETS
(B) T©IFbd
(C) = A
. (D) & c8r, Ba |
150, FeT-S1b 74rg Tizad =
(A) A
(B)
(€) @
(D) 4]
695930

[
—.

147.

149,

67

145.1n an eukaryotic cell, the organelle
responsible for acrobic respiration is

(A) Chloroplastid
(B) Mitochondria
(C) Golgl body
(D) Lysosome.

146, Which substance
'bucky-ball' ?

(A)
(B)

is known as
Diamond
Gold
(C) Fullerene
(D) Graphite.
147. What are the components of Gun
powder ?
(A) Carbon, potassium nitrate and
potassium sulphate
(B)
(C) Carbon, sulphur and nitre
(D) (Sulphur, sodinm nitrate and
potassium sulphate.
148, The substance used in rocket fuel is
() liquid nitrogen
(B} liquid hydrogen

carbon dioxide

Carbon, sulphur and bismuth

(D)

149, The concept of stationary orbit in an
atom was proposed by

{A) Rutherford
(B) Dalton
(C) Neils Bohr
(D) J.J. Thomson.

150. An example of a solution made of
solid in solid is
(A)
(B)
(C)
(D)

liquid helium.

fog
smoke
bronze

air.

| P.T.O.
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"o - 11 (b)
ey fawn

Section - III (b)
SOCIAL STUDIES

ﬂﬁﬁ@mmaomwwlmﬂﬁmﬁaﬁﬁwﬁmw@wwm@mﬁﬁm |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91. 0™ oF TEMEG Ree 2 91. Jaldapara is famous for
(A) EF =% 8= (A) one horned Rhinoceros
(B) g (B) Tiger
() Big : ' (C) Lion
(D) =S | _ (D) Elephant.
92. IMETE FH 92, Cause of air pollution is
(A) cdrm ; (A) smoke
(B) 9 et (B) cleaning utensils
(C) =™ = (C) bathing
(D) e e | (D) use of fertilizer.
93. =Ry fgw ofewt 3w 93. Mangrove forest is found in
(A) TR Fes (A) Saline soil
(B). F¥yfeerm (B) Black soil
(C) e wfes (C) Podzol
(D) (AR 73 | (D) None of these.
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94.

95.

96.

97.

a98.

(D)

voo fubr Bw wfiel =1
() TR

(B) g

(C) #I=Ie
(D) &S |

i e WpE o
(A) @1

(B) wCfEE

weper i

(D) =

sifedla = g v

() ¥y ey

forer-1fi S

(C) T STHSR

(D) gheea emER |

AL AF T WREE 27 ............ VT |
TiEre!

CiE

g W

(C)

(B)

(A)
(B)
(C)
(FHHIE 49 |

b @41 (7w e e ol 2o
el
(OIS 7F |

() FTE

(€) FagH

(B)

(D)
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94,

93.

6.

97.

98.

[5001]

Landform which is 600 metres high,

is
(A) Plateau

(B) Plain

(C) Hill

(D) Mountain,
Earthquake prone region is

(A) Japan

(B) Australia

(C) South Africa

(D) Germany.
Effect of revolution of earth is

(A) change of seasons

{B) moecurrence of days and nights

(€) | eceurrence of flood

(D) occurrence of earthquake.

The first humans came from

(A) Africa

(B) Asia
(C) North America

(D) none of these.

The Tropic of Cancer passes through

{A) Krishnanagar

(B) Bankura
(C) Birbhum

(D) mnone of these,

[ PT.O.



99, fFEmw @ g sdfeaen o g

(A) ©iEr o e
(B) ¥ *Hfs
LIS IES

TR o |

(€)
(D)
100. ATY ST B Wrer

(A) ssax &t (B) »»ae 9k

(C) s»ae &tz

101. :

AL BTS2
ARG
QG
ZiErafiee
SRR |
Frady wmeE R 2=

(A)

(B)

(C)

(D)
102.

(A)  CHTTIRCH (B) Yfare
wifsenT (D) ©f% &% |
103. =ffadr Adies am / ARG =51

fafif3if

(€)

(A)
(B)
(C) s
(D) ==& |
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99. The Himalayas belong to the category

of
(A) Fold Moﬁntains
(B) Block Mountains
{C) Volcanic Mountains

(D) Residual Mountains,

100. Project Tiger was started in

101.

102,

103.

(o)}

(A} 1972A.D. (B) 1973AD.

1975 AD. (D) none of these.

(C)
Atmospheric pressure is measured
by
(A) Barometer

(B)
(C)

Thermometer
Hygrometer
Anemometer,

Rainfall of equatorial region is
(A) relief
(B) frontal
(C) convectional
(D) drizzle.

Longest river in the world is
(A) Mississippi
(B) Nile
(C) Ganga

(D) Brahmaputra,
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104, 7=geh 2 104. Great circle means
(A) e (A) Equator
(B) TG Cawi (B) Tropic of Cancer
(€ ey (C) Tropic of Capricorn
(D) G G | (D) Pole.

105, 71 @ o7 TeeA) = 105. Dadra and Nagar Haveli is a
(A) P ww | (A) Union Territory
(B) A& (B) State
(C) e (C) District
(D) CPFBIR 78 | (D) none of these.

106. Free India Centre Hf*® grafe= 106. The Free India Centre was sct up in
() e — (A)  Berlin
(B) =8W (B) London
(C) - thifwers (C) Tokyo
(D) @A | (D) Rome.

10‘?. Indian Independence League W™ 107. The Indian Independence League was
Rl set up by

T aRed e (A) Rashbehari Basu
(B) TP ¥ (B) Subhas Chandra Bose
(C) FCH G Bt (C) Captain Mohan Singh
(D) &0 CFE F | (D) none of them.

695990 [6001 | | PT.O.




108. Direct Action-a9 51 2%
(A) =FEr=rem
(B) @m=s
(©) e
(D) (=L 77 |

109. C.R. Formula-9 2i#4 (&
(A) BIFIS] AATCIPA TG
(B) foeze wre
(C) adlwaiR apa
(D) G0 TS 79 |

110, "SR TN 139 9% T Sler

(A) s ATGTETerEEa)

(B) Tooags

(C) wdEmE drpe

(D) O S = |
111. IAES SHEH &9
(A) oI
(B) ft
(C) e
(D) CSFHEE 77 |

112. 0w zfe~1 e qeivrew e

TRMEEE ?

() TR

(B) s

(C) =n=enz

(D) <o74 (T 7 |
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108. Direct Action was initiated in

109.

110.

(A)
(B)
(€)
(D)
C.R.
(A)
(B)
(C)

(D)

Calcutta

Bombay

Madras

none of these.

Formula was forwarded by
Chakravarthi Rajagopalachan
Chittaranjan Das
Rabindranath Tagore

none of them.

Amar Sonar Bangla was composed b

()
[Bj.

(C)

(D)

111.

112

6001

Chakravarthi Rajagopalachari
Chiitaranjan Das
Rabindranath Tagore

none of them.

Babur was born in

(A)
(B)
(€]

(D]

Fergana
Delhi

Ajmer

none of these.

Captain Hawkins visited the court of

(A)
(B)
()
(D)

Jahangir
Akbar
Shahjahan

None of them.
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13, S-G9 SA0Sd (PIEH TAGHT FET 7 113. Vasco-da-Gama came to India and
@A) FifeRece landed at
(B) e it (A) Khozikode
(B) Gujarat
(C) #BATE
(C) Patna
(D) GFFBE 8 |

(D} none of these.
| 14, Y@ ENE T 8y

114. Farrukhsiyar's firman was issued in
(A) sasa 9l
(A) 1717AD. (B) 1720AD.

(B) saxe 9 (C) 1730A.D. (D) 1740AD.

A & 115. The Second Charter Act was passed
(D) s48¢ iz | %
115. fa@g sibrz =m® o™ 23 (A) 1813 AD.
(A) seye d: (B) swss M (B) 1814AD.
(C) 1815 A.D.
(C) sude M (D) (SWHE aF |

(D) nbne of these.
116. G @sea o4 @ B : B=
116. The last king of the Maurya Dynasty

(A) TR e
o My (A) Brihadratha
() SiH (B) Kalashoka
(D) <R T 7 | (C) Udayin

;_1'7, o T B (R e AR 2 (D) None of them.

. 117. Who was called Lichchhavi dauhitra ?
(A) =W Frad

(B) Tl reee R (A) Chandraguptal
| (B) Chandragupta Il Vikramaditya
(C) “Eod
(C) Sﬂmu&r&gu]?ta

ol P i (D) None of them.
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118. =vifa A #ifafe @ gren fof sm 118. Sakari was the title earned by
(A) o Fued ' (A) Chandragupta |
(B) s o Ruprire (B) ' Chandragupta Il Vikramaditya
(C) e (C) Samudragupta

(D) @mWT (T8 a7 | (D) Nene of them.

119. wnZEm ey a5 - 119. The Aihole Prasasti was compuosed by

A : (A) Ravikirti
= (B} Gautamiputra Satakarni
(B) cilrefem e
(C] Vasisthaputra Pulamayi
(C) aFowa s

(D} None of them.
(D) @t &8 77 |

120. 4@ *= s@ifene s

120. Pulakeshin 1l defeated

(A) Chandragupta Maurya

(A) Faed G (8) Harshavardhan
B) A |  (C) Nagabhatta Il
(C) TReIw Aerode afjd]e -_ (D) None of them.
(D) <t @8 77 | Jaa 121. River of South India is
121, ... K767 ORISR 7R | (4) Brahmaputra
(B) Ganga
(A) v (B) ==
(C) Jamuna
(C) T (D) F= | ;

(D) Krishna.

122, P (@51 VIRAR WY 122. Royal Bengal Tigers are found in

(A) s (A) Sundarban
(B) iftwas »idrs | (B) Western Ghats
(C) FemEw *H(s (C) Himalayas

(D) s =" (D) Garumara forest.
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123. #itrg Swsiea i1 #1&
(A) wEAE
(B) SECH
(C) =

(D) R A TSq W |

124 (TSI T2 ..o A8 TGS T |

(A) CITAETIFGH (B) BirslTAl

(€) wiEm (D) FETE |
125. 4fer A7 BISHE *aN F

(A) ISR WG HHE
(B) R W
(C) ~FEIRCE AAGH THE
(D) iFowaEEg A W |
126. SIF059 FEE NN AT
(A) S FHwE Wk
(B) vo ATGrer W2
(€) se Afbwerm A=
(D) (PFGE Y |
127. gy e 23
(A) T 5T &
(B) 4 b &
(C) o1 BIAR ©]
(D) e BT G |
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123, Main work of a river in its

124.

125.

126.

127.

(©)

(D) Mountain region of West Bengal.

upper
COUTSE 18

(A) erosion

(B) deposition

(C) transportation

(D} formation of meander.
Polder is the reclaimed lands of
(A) Netherlands

(B) Germany

(C) Austria

(D) Scotland.

Rich deposits of minerals arc found in
{A) = Chota Nagpur plateau

(B) Sundarban region

Plains of West Bengal

The maritime boundary of India is
(A) 12 nautical miles
(B) 13 nautical miles
(C) 15 nautical miles
(D)
Black soil is suitable for

none of these.

(A) cotton cultivation
(B) rice cultivation
(C) wheat cultivation

(D) sugarcane cultivation.

[P.T.O.



128, Sy 27 Gl
(A) TamTSiE IB
(B) Emw 2§
(C) b o GHe 91
(D) CFEE 77 |
129. TFeres aw? a7 v
(A) Sommr teedle
(B) fau Swrm
(C) st e
(D) @
130. STl WIS TH
(A) 9fieE
(B) 4G
(C) wnFGE
(D) FrmnamE |
131. T i e
(A) T IO TEES Y
(B) X9 W GIE U
(C) T 4+
(D) <9 8 "7 |
132. V Bearel oral 9%
(A) <@ Swefere
(B) =& sparfers
(C) =77 Fraafers
(D) REwRTEs Swfers |
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128.

129.

130.

131

132,

India is a
(A) Developing country
(B) Developed country

(C)

Least Developed country

(D} none of these.

Result of greenhouse effect is

(A)
(B)
(C)

(D)

inversion of temperature
global warming
industrial pollution

flood.

Temperature is measured by

(&)
(B)
(€)

thermometer
barometer

anemometer

(B)= seismograph.

Frontier Gandhi was

(A)
(B)
(€)

(D)

Khan Abdul Gaffar Khan
Khan Abdul Wali Khan
Shaista Khan

none of them.

Gorge is formed in

(A)
(B)
(C)

(D)

upper course of a river
middle course of a river
lower course of a river

mountain stage of a glacier.



133, weifma-ag il =
(A) 2304 Wb
(B) 230 oo
(C)  35¢4 BT
(D) oet CHUHES |
134. “{fadig RO (< JReTeyE W
(A) o
(B) el
(C) e
(D) AT |
135, ACHSHEAR SHREe 25
(A) T
(B) CawsUg
(C) W=
(D) &b |
136. SEforam @9 farw
(A) s
B) ¥R
(C) e
(D) (&R A% |
137. cwib eaferum T e 2

(A) Stoo 9l (B) swod 2
(C) swox dl (D) svoo |
695990
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adda=y.

133. Date of spring equinox is
(A) 21st March
(B) 22nd December
(C) 21stJune
(D) 23rd September.

134. Heaviest rainfall in the world is

received by

(A) Bangladesh

{B) Cherrapunji

(C) Shillong

(D) Mousinram.
133. Ex,dmple of lgneous Rock is
sandstone
slate.
136. William Carey was a

(A) Missionary

(B) Poet

(C) Linguist

(D) none of these.

137. Fort William College was established

in
(A) 1800 A.D. (B) 1801 A.D.
(C) 1802 A.D. (D) 1803 A.D.

6001
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138. 75 w9 Ty frofet 138. The Young Bengal was led by
(A) fa fefomm femeng : (A)  Henry Vivian Derozio
(B) (3. TR0 AT (B Rev. Krishnamohan Banerjea
(C) e femors (C) James Prinsep
(D) g (@S A | (D) none of them.
139, Srsica qrare fate - 139. Womesh Chandra Bonnerjee was a
(A) AT (A) Moderate
(B) BASEE (B) Extremist
(C) (A) ==t (B) Tewg - (C) Both (A) and (B)
(D) b =7 | (D} none of these.
140 &R PR L MpFEEE . e | R0 140, Gandhiji called for the establishment
TafEwm ¢ f‘| of
g |
-~y v adda-=+
(B) st*mmeEr ‘ ' (B) Ganarajya
(©) waren ' (C) Swarajya
(D) (A) @3 (C) By | (D) both {A) and (C).
141, RSwH-Ae W3 AreeeiE s R 141. Hiuen-tsang visited India during the
SF o reign of
(A) bFaes o (A)  Chandragupta Maurya
(B) =fads (B) Harshavardhan
(C) fadiw wrsrel (C) Nagabhatta II |
(D) &Te FE o | Sy Baie et i,

695990 6001
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142, ENH BEm awew
(A) <Eg wGE
(B) WA o
(C) Tofiee 7RG

(D) CPABE 7F |
143, wesw (i) sEifere swfges

(A) STl Gz

(B) TSz spreiie

(C) ==

(D) EE (FE A |
144 ‘2w a7 fEm

(A) R I

(B) 4y o

() =t Ferg

(D) (FWEE F9 | |

145. ‘yweme’ @ @fig wwsfe @it =1

) E Y
(B) @
(C) e
(D) CBFGE 7Y |

Y46, s SeeE TS et &=

(A) AT ATl
(B) e sgre

(C) & Ferel
(D) CFGIE T |
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142,

143.

144,

Suleiman was a/an

(A) Arab Traveller

(B) French Traveller
(C) Chinese Traveller
(D) None of these.
Muhammad Ghori defeated
(A) Prithviraj Chauhan
(B] Pulakeshin Il

(C) Harshavardhan

(D) None c;f them.

Igta was a system of

(A) Land grants

(B) Religious endowment

; (C) Loan

(D) Noneof these.

145. Khudkasht was a category of

146. The

(A) peasants
(B) kings
(C) nobles

(D) none of these.

Harappan Civilization

contemporary of

{A) Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civilization

(D) None of these.

was a

[ P.T.O,



147. SRS e 147. Yajnavalka was a
(A) =g (A) Saint (Rishi)
(B) wffe (B) Philosopher
(C) (A) @3t (B) T&y (C) Both (A) and (B)
(D) CFWHIE 77 | (D) None of these.
148, R Rew 148. Bimbisara belonged to the
A) Gupta Dynas
(A) &e TRy o R TTa
(B) Maurya Dynasty
(B) ¢ <9y
(C) Haryanka Dynasty
(C) =% aoiy
(D) None of these.
(D) CFFEE A7 |
149 Alexander invaded India during the
149, HFETFRISE GES ST 3@ reign of
(A) PESE I PHIEA . (A] Chandragupta Maurya
(B) 4==ICwd *H=E . (B) Dhanananda
(C) AT =PI (C) Agrammes
(D) =GR w7 | (D) None of these.
150. fammm (e & 5% 150. The Battle of Jhelum was fought
between
(A) << O9% HIETFESET o0 s
(A) Porus and Alexander [
(B) SIS 98 eSS 9l -

(B] Ashoka and Alexander

(C) P @<t SETeSIEs ST
- (C) Bindusara and Alexander

(D) €we (S A |
(D] None of them.
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a =t / INSTRUCTIONS
e tmﬂgﬂﬁﬁﬁﬁiﬁfﬁmﬂmmndﬂnﬂr]
& SF¥ [ IMPORTANT

1. ot cuttrat WIS wats o w3l Gia weiis wé (orfwille wonng) nfERrebace o o |
At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
%rtlunl to the Invigilator,

2 Moz 8 B g Wy — e, v, ol e, ofm, Aewl cems aer 41 aners a0 e s sifrede dra
STEEHSAR ST o w0 B evew wat e el wra fedle o w30 B woms, aibeo B woon Tum P g
In Secuon-ll, there are 8 languapes — Bengal, English, Hinds, Nepal, Oriva, Santhali, Telegu and Urdi Bach langunge is
having 30 ql;uhurrs The candidate has to answer 650 qw;annna inall taking bne as First Language having 30 questions and

other ecand Lang having 30 questions as per hia/her gpplicotion ferm

3. m = et %r«w— Bl 1[a) - #E0 E [ai wqt f4e fl) - HarEfn | 2itere S an B ooy | adheid) wicew
“E ol ol Rl bae eeEe
“gectign-l s divided inlo two szdcaimsh— Seetion [H[a| - Mmh?“f-lmﬁ & Science u.nhd Sﬁ;‘.ﬂ?{] llllfh} - Social Studies: Each section
15 g 0O questions The candidate has to ¢ any gne of the sechions ag per his/her Apphcation Form

a wﬁw W G mnw:uaﬁﬁamq (R L B ?ir;-;m |

The eandidate mist ensure that the Question Booklet No. has been filled correctly at the ribed place inthe OMR Answisr Sheer

1 el AT ¥R A0 OMR FURATEY ST | (K10 8, 1€ 14 641 0AIRAE BAHIN |, 3 490 4.4 2HA O o s | oS w1 g
@Iﬂf}ﬁ*@ﬂw&i RO S ¥k S MR AACE W & G OMR SRRPE W SR AT S AT e B e s
Kea alfl the instructens carefully and fill the details in 51 Noa. 1 ta 8, 13 & 14 in the OMR Answer Shest and S|, Nos. 1, 3 & 4
i the Question Bookler. Il you fail 1o 6] the details and s.gsn as wistructed correctly, you will be personally responsible for the
cons#quenoes arsing during scanning of your OMR Answer Sheei,

2. AT w7 oM Faaem 4t e
OMR Answer Sheet Ho should be written in rhe space provided in the Question Booklet,

3 SrPREH N §4 0] @at 150 T oy Iy enefe pueire ide otewre orad ol Bk ey erefEel v simd)
mmm%1ﬁmam tﬂnf‘mma%mmmmmﬂm . L e

si30m et conprise I ing 150 guesdons. T buh'.Fmsn'uJ: 10 Bpen Baoklet then carmidate W

ﬂthQI}.:.' eation Bookle! &L 'lhst it ::EEd 1\1.513-_5 C‘JI whether the Bogklet containg 150 questions starting from Page No 3 o B0,

4 Waalm | ST YT TEUT I W T 1 | g Darsa e GAbE NITE aE a0
All questions are of MCQ [Multiple Choice Question) type. There s only ofie correct answer to'eich qiestibn carrying one
mark, There will be no negative rking for wrong answers,

5. (AW 0T W amqg e, v&'m% weAlt eeas 11 Fog ot porerilla cor soone a9 2 A feem ge R iy
L Il 3 e B WIS W0 | O i SRS SN Al s Wm [Tt 3 4 TR |
In |ni';wem of any fuctual mistake in any question/s eandidates will nol be penalistd However no corrections will be madn in
question/s dunng the exsmination, Scetion-1 and om s and [ are grinteduin Bengaleand English versions. [n cose of
any factual disorepancy the English Version will peeval. . | " y

5. CR s g T G »iwy ot g FELE &Lo ORI L) (30% ST « 4 (W AT a1s cravl sre A
Rough work, f any, may be n:c}[l the Queaton Booklet mg;:-thr'upn& proviced nt the end of the Booklet. Do not tear it off

irom ihe Question i#t. No additonal paper shall be prov
7. 4] G%ﬂ. gy, w9, e c%w. :m.,ﬁs%ﬁm SIEEAT w9q) W (R EoE e Wun TRvs aeehe 781 gamy
JIRTS Gt AT Wi e o ) Ll

Hse of Log tables, Calewlater, Slde rule, Mobile
alicwed. 1&15:}' use will !%?;u!l in dﬁﬁﬁum a?‘l ¢
8 o) wfiEer (% WEe 6 OMR TATE (e 5| j
OMR Answer Sheet will be provided separntely aiong with the €) riort Hook _
9 s oo guc OMR Suso i e wafie) age OMR Tugeies IR WA S e o wane | weee s s’ e i
oA k) Send sncel Wiew s fics emefen® e aeifunn cveng sig w8 308 v e o o e com we gua
1 N B (e e iy el ) ok melfien (o wh e, T cewem onf wfimmebace onfann sl B (e
Alter o Boakdet nric OMR Answer Sheet are issued to the candidale, 1he Gundidute must fill in all the entries in the Question Hoolder il OMR
Arswer Sheet. The Question Hooklet in sealed by a reverse jacket: The mn{idam b 1o tear open- the jackel &1 the indicated piace in arder 1o gpen the
QJueation Haoldlct, After opening the Question Buoklel the candidite should ensure that any pagequestion 18 not missing / ool ponied [/ torn |
vepeatod. I cuse vou find any defeet anywhere m the Question Boaklel, immediately mivem the bapsdator and get 1 replaced ' him. P2
St Tt O At 07 TS, eisefo [Alae A, (o, Tom, s ST, PO W, NI R, g wifae e Gy o
s OMR TEsenea SR = s ) )
Candidate should write Roll No., Centre Code, Question Boolklet Serial No., Category, Gender, Language-1, Language-1l, selected
Sulject Group, Late of Exam and his/her Full Signature in the space pravided in the OMR Answer Shest
1L aorefh s T o T Bed A, B, Cost 0 sl fiy R o1 ae) oo e v R o an wioes A o e v e ot e
wed | wioite Euald s OMR Faaene Ao gall e e o e saw ) s s v ca ] T GG e AT -
With each questuan you will fird 4 possible answers marked by the letters A, B, € & D. Read each guestion carefully and find
out which answer, according 10 you is-correct. Indicate your answer by darkenmg the n?pro'prlau dircle completely in the OMR
Anmwer Sheet correspending to the question. For marking answers use hhok“::ﬁ point pen only,

e opafs ¥  CORRECT | =1 =1l : §* / WRONG T [ WRONG = | WRONG BN | WRONG
Correctmethod - | @ @ © @ | Wrongmethod . | B © © @’@@@ eeCo| | ece

18 G ST ST SEe CRGWTE S (RO LT S sone A1)

Unco a questign ig answered, no cqrrection 18 permgitt )
13 oMR it S50 Al el wﬁ'ﬁ%vgﬁ T[S g5t oMR SEIeE wva Fdmel e A e o

W A B T 3wa 509 A1) 99 s e 1o #WMQWWNI

OMR Atiswer Sheet s designed for computer evaluation [T vou do net folluw the nstruttibng given above ond shown in the DMR Answes

Sheet, it may make evaleation by computer difficult. Any res loss to the candidate on the above necount shall be of the candidate only,

LA, A an o G ol adleT e T RIS (I | AT O S S WIE) v wier wo1 OMR TE490 SlSIEh4Te
A 4SS EEIe (yen e A sy vl crae faor e
Mo eandidnte is allowed to leave the Exarmination Hall before the final bell Afier ngmgt:mn of the examination the candiddaie shoukd hand
[c_m.-r ?lmu II'JH_Elnmr Sheet along with the Question Booklet to the Invigator and he fshe will take back his/her portion of Admit Caird
Tom nvigilitor.
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